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> fi= ()= (P +)") =227 +247
2 22 2 2
f=(xny) = (" +)) —2x"+2y

> solve({diff (f(x,y),x) =0,diff (f(x,y),y) =0}, {x,y})
{x=0,y=0}, {x=0,y=R00tOf(_Zz+ 1)}, {x=1,y=0}, {x=—1,y=0}

> evalf (%)
{x=0.,y=0.},{x=0,y=I}, {x=1,y=0.}, {x=—1,y=0.}

> det(H) = diff (f(x, ), % x)-diff (f(x,), 9, y) —dif ( f(x, ), %)
® @ ®
det := H — (g f(x,y)) (y f(x,y)) — (ax—ay f(x,y))

> subs(x=0,y=0,det(H))

2

i —16
> subs(x=1,y=0, det(H) )
i 64
(> subs(x=1,y=0,diff (f(x,),%x))

8
> subs(x=-1,y=0, det(H))
i 64
> subs(x=-1,y=0,diff (f(x,y),x,x))

8
> £(1,0) 1
> /(-1,0) 1
00000

| (100 f(1,0)=f(-1,0)-1
> plot3d( f(x,y),x=-13.13,y=-1.3..1.3, style= patchcontour, contours = 50)

(1)
2
3)

(4)

()
(6)
()
(8)
©9)

(10)

(11)






